HloL & H

7 OO

SERR224F | SERK214FE | SERK204F S E—
k22 k21 TRR20
i ) i 9294F 214 204
@ & 99. 6 100.3 101.7 -0.7 -0.70 -1.4 1.4
kAR R B <R A 99.3 100.3 101.6 -1.0 -0.96 -1.3 1.5
BFREORBEFEEZHRIRA 99.7 100.5 102.0 -0.8 -0.68 -1.5 1.6
FZEOIRBZER D
AR R R R 99.3 100. 4 101.9 -1.1 -0. 90 -1.5 1.7
fofh (EEE R RO
TRAF—ZR s O 97.4 98.6 99.3 -1.2 -0. 81 -0.7 0.0
£ Bt 103.3 103.6 103. 4 -0.3 -0.08 0.2 2.6
e it 1 @ 107.9 102.0 103.2 5.8 0. 24 -2.5 3.1
EOfE R E R < & OB 102.5 104.0 104. 6 -1.4 -0.33 0.8 -0.4
B ] 101.5 104.9 104. 1 -3.2 -0.07 0.8 6.4
ft N ] 102. 6 104. 4 105. 5 -1.7 -0. 04 -1.0 2.3
s ik ft 4 101.6 102. 6 105. 8 -1.0 -0.01 -3.0 1.6
&) ] 103.7 105. 6 106. 9 -1.8 -0. 04 -1.2 4.1
7 g ] 102.5 103.3 102.0 -0.8 -0.01 1.3 4.6
¥ W W 109. 6 103.2 103.7 6.2 0.17 -0.5 2.0
s ik B P 114.8 103.3 104.7 1.1 0.19 -1.3 1.6
2 W 105.3 98.8 102.2 6.6 0.07 -3.3 -6.1
s e 2 ) 105. 9 98.9 102. 4 7.1 0.07 -3.4 -6.3
wos - W % 101. 4 103.2 103.2 -1.7 -0.02 0.0 4.0
HE * ] 108.0 109. 2 105.7 -1.1 -0.03 3.3 53
3 i = i 103.9 105.7 104.5 -1.7 -0.05 1.1 3.4
i/ et 92.3 94.3 96.5 -2.1 -0.03 -2.3 -0.4
i L] 97.6 99.0 99.5 -1.4 -0.02 -0.5 1.5
P48 = 103. 6 103.7 102.8 -0.1 -0.01 0.9 1.6
{E = 99.4 99.8 100.0 -0.4 -0.08 -0.2 0.2
BFEORBEEL KB AR 99.9 100. 4 100. 4 -0.5 -0.03 0.0 0.4
% % 99.1 99.5 99.8 -0.4 -0.07 -0.3 0.0
BREORBRER R RE 98.9 99. 4 99.8 -0.5 -0.02 -0.4 0.0
OB R - M B 101.0 101.7 101. 1 -0.7 -0.02 0.6 1.0
b6 # . K i 105. 9 106. 1 110.7 -0.2 -0.01 -4.2 6.0
& = % 101.0 104.2 104. 8 -3.1 -0. 09 -0.6 3.7
7 2 1% 111.9 112.8 113.5 -0.8 -0.02 -0.6 6.6
it %) * # 124.6 108. 4 163.7 14.9 0. 09 -33.8 29.4
E Fook o B 102. 1 101.8 101. 1 0.3 0.00 0.7 0.3
% A % H B & 89.6 93.9 96.0 -4.6 -0.15 -2.2 -0.3
% B OB m A M 73.1 81.3 86.0 -10.1 -0. 09 -5.5 -3.4
E- S R 87.9 91.6 94.1 -4.0 -0.01 -2.7 -1.5
(=S H ] 93.4 95.9 98.5 -2.6 -0.01 -2.6 -0.6
% = e & 102.0 103.1 103. 1 -1.1 -0.01 0.0 1.8
% H H WM K& 97.2 101.7 102. 4 -4.4 -0.03 -0.7 2.2
% F ¥ — B = 101. 1 100. 7 100. 7 0.4 0.00 0.0 0.1

(1) #HELLER (EEZRS) RO=RLF—

Rzt o,

(2) RO, EREER, R

- 130 -

(BEA, BHH A, FTa v Hx, THEOHT YY) &




Rkl 74E=100

i O (%)
; SERE224E | WERR214E | FERK204E
e ) i 9294F 214 204
S N3] Y T h
S S O N - S 99.8 101.0 101.9 -1.2 -0.06 -0.9 0.5
*~ Bt 99. 4 100. 5 101.9 -1.1 -0.02 -1.4 0.4
il ilE 98.2 08.3 99. 1 -0.1 0. 00 -0.8 0.0
Tt ilF 99.5 100. 7 102. 1 -1.2 -0.02 -1.4 0.4
Yy e k—F— - FEH 99.6 100. 8 101.5 -1.2 -0.02 -0.7 0.1
Ty Y -k — % —H 100. 4 101.3 102.3 -0.9 -0. 01 -1.0 0.3
N 5 ) 97.9 99.5 99.7 -1.6 -0. 01 -0.2 -0.3
Ji& W ¥ 102.7 104.0 103.8 -1.3 -0. 01 0.2 1.8
ity o W R HE 94.7 97.2 98.3 -2.6 -0. 01 -1.1 -0.7
R OBOE#E Y — B o 105. 2 105.0 104. 2 0.2 0. 00 0.8 2.1
15 i = b3 98.8 99.3 99.4 -0.5 -0.02 -0.1 -0.3
SR -l R R B R IR 94.7 96.0 98.2 -1.4 -0.02 -2.2 -0.3
1§ = % H o B 92.4 94.8 97.2 -2.5 -0.02 -2.5 -1.8
B E R Y — v = 103.2 102.5 100. 8 0.7 0.02 1.7 0.2
3 i i I 98.4 97.4 102. 4 1.0 0.14 -4.9 2.0
% b 99.3 100.0 100. 8 -0.7 -0.02 -0.8 1.0
B O® #H % B R B 100. 6 08.2 106. 8 2.4 0.19 -8.1 3.3
i Bl 93.3 94.0 94.4 -0.7 -0.03 -0.4 0.0
# H 93. 1 103.0 102. 1 -9.6 -0.36 0.9 0.7
= ES Bt = 89.7 102.9 102.1 -12.8 -0.36 0.8 0.7
HRE - FEHBEAM 109. 8 108.9 101.8 0.8 0. 00 7.0 0.1
il H # H 102.7 102. 4 102.3 0.3 0. 00 0.1 0.6
# # et 3 92.7 94.3 96.7 -1.7 -0.18 -2.5 -0.5
o B O W OA W 34.5 42.8 55.3 -19.4 -0.10 -22.6 -18.4
Ho#E o o|oo% W & 95.9 08. 6 99.1 -2.7 -0.06 -0.5 0.2
=& . oo B OB 101.5 101.3 101.0 0.2 0. 00 0.3 0.3
BB K Y — v R 100. 8 101.0 102.9 -0.2 -0. 01 -1.8 1.3
e # 103.0 101.7 102. 1 1.3 0.08 -0.4 0.4
OoE A 4 — B X 99.6 99.7 99.8 -0.1 0. 00 -0.1 0.1
FIE S~ ¢ e 96.2 97.4 98.9 -1.2 -0.02 -1.5 0.0
¥ o ®m| v & 107.0 107.5 108.3 -0.5 0. 00 -0.7 2.3
o i3 - 119.7 109. 2 109. 2 9.6 0.07 0.0 0.1
ity D I ¢ 103. 1 101.2 101. 1 1.9 0.04 0.1 0.3
KL Bl >
- F v X — 107.1 104.3 117.3 2.7 0. 21 -11.1 9.0
# & 5] % # 95. 1 103.2 102.2 -7.8 -0.35 1.0 0.9
o mox M KB OB 93.3 94.8 97.0 -1.6 -0.18 -2.3 -0.4
% oW @ 1 M %R & 95.2 95. 6 95.8 -0.4 -0.02 -0.2 0.0

- 131 -




